
TRIUMPH STREET TRIPLE 765 ’17- 
REAR SETS    

s a t o r a c i n g . c o m

part# T-ST765RS
 (For Street Triple models not equipped with the Quick Shifter)

12 13

3419

39

14

23

33

5 31

24

7

16

6

28

2624 37

40

8

3643 18

41

25

27

3

30

1

 1. (L) HEEL GUARD  [HG-20L]
 3. (L) STEP PLATE  [T-ST67513SP-L]
 5. SHIFT PEDAL SPD8 (BK)  [SPD-8B] 
 6. SHIFT PEDAL SPD11 (BK)  [SPD-11] 
 7. SHIFT BASE (BK)
 8. SHIFT ROD 170 (BK)  [SRD-170B] 
12. FOOT PEG  [PEG]
13. FOOT PEG END CAP  [ST-002]
14. PEDAL TIP (DELRIN)  [ST-001D18]
16. COLLAR 50-6  [CLR-50-6]
18. COLLAR 23-6 (BK)
19. PEG COLLAR 15  [PEGCLR-15]
23. SOCKET HEAD M6 x 18mm  [SBT-M618]
24. SOCKET HEAD M6 x 30mm  [SBT-M630]  x 2
25. SOCKET HEAD M6 x 45mm  [SBT-M645]
26. SOCKET HEAD M6 x 80mm  [SBT-M680]
27. SOCKET HEAD M8 x 15mm  [SBT-M815]  x 2
28. SOCKET HEAD M8 x 25mm  [SBT-M825]
30. BUTTON HEAD M6 x 10mm  [BBT-M610]  x 2
31. BUTTON HEAD M6 x 20mm  [SBT-M620]
33. FLAT HEAD M6 x 12mm  [FBT-M612]  x 2 
34. STUD BOLT M8 x 50mm  [STBT-50]
36. JAM NUT M6   [JNT-6]
37. REVERSE JAM NUT M6  [JNT-6L]
39. FLANGE NUT M8   [FNT-8]
40. REVERSE MALE ROD END M6  [RDED-M6L]
41. MALE ROD END M6  [RDED-M6]

TRIUMPH PART:
43. CHANGE ARM 

1       0 mm Back        15mm Up
2       0 mm Back       28.5mm Up
3       0 mm Back       39.5mm Up
4     12.5mm Back     28.5mm Up
5     12.5mm Back     39.5mm Up

PEG POSITIONS

note: all measurements are in
relation to stock position (0 mm).

1

2

3

4

5

[L]-SIDE


